L AT ‘ Circle Theorems

Rk

REVISE THIS
1S Tt

1 A, B, C and D are points on a circle, centre O.

D

1 (@  Write down the size of angle CAB. [1 mark]
Answer L.» Z degrees

1 (b) Write down the size of angle ACD. [1 mark]
Answer x \ degrees

1 (c) Write down the size of angle AEB. [1 mark]
Answer S l degrees

1 (d) Write down the size of angle BEC. [1 mark]

Answer l 23 degrees
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2 A, B, and C are points on a circle, centre O.
A
C
B
Work out the size of angle CAB.
Give a reason for your answer. [2 marks]
Answer ‘ l degrees

ceson AL anale n o serwitirele i A0°
Ang\(’,s In Qa hricms\e, add Lo \80°

3 A, B, and C are points on a circle, centre O.

29° C

Work out the size of angle COB.

Give a reason for your answer. [2 marks]

Answer S % degrees

Reason ‘W\Q CM'\&\Q. UL’( t\ne Q,Q,v\f(,le, \S {',\,o\‘c,g,
the OV\S\Q. ok the urCumerence.
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4 A, B, C and D are points on a circle, centre O.

3

Work out the size of angle ABC.
Give a reason for your answer.

[2 marks]
Answer & L+ degrees
Reason 0"{ ?OS\*Q; Qﬂ&\es mn Q Q (,\" C
L} o
%u adrilaleval odd 1o 120
5 A, B, and C are points on a circle, centre O.
AB is a tangent. A
C
B
Work out the size of angle OCB. [2 marks]

Give a reason for your answer.

Answer q O degrees
Reason ‘A ‘mV\SQV\‘h Meets 8 ‘(OA,\\&S dk °|OO
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6 A, B, C and D are points on a circle, centre O.
A

Work out the size of angle ABC.
Give reasons for your answer. [4 marks]

fAngle DOC= (36°
The un{)\e oX the cemkie is bwice the
ovxs\'z. ok the UrcumCerence.
Angle OPC = Angle OCD = &3
?;use, ang\es in an icosce)es ’mang\"— ue %W‘L
Ahg\t ADC = 2+ 4S
= 0%
M\S\c ARC= |80 - 63
=13
Dﬁqos%’f% ov\g\es noa (d(,\‘\c %ua&ri\ahml

0

add O |20

Answer \ l 3 degrees
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7 A, B, C and D are points on a circle, centre O.
EF is a tangent.

Work out the size of angle ABC.
Give reasons for your answer. [4 marks]

Angle DAC - S’

Alternote se&me,v\b t\ne orom,
Pm@c ADC = 43° °
An&\cs no h’\mdle. addh o 180

hng\& ARC= 180- 473

= | 1?’°
ox?osi*% O.V\S\Qs m Q (d(,\'to %ua&ﬁ\ahml
add to 180

Answer | 3?‘ degrees
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8 A, B, and C are points on a circle, centre O.

Work out the size of angle ACB.
Give reasons for your answer.

P\h&\a AP = 65°

The omé\e, aX bthe wnkre is bwice the
on & ot e greumCeence.

%\n&\b ARC= 180-65

[3 marks]

= | 1D
Ofﬁosi*% cms\es n o g:\(,\‘.o o\,ua&ﬁ\ql’eml
add (O 180

Answer \ | 5

degrees
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9 A, B, C and D are points on a circle, centre O.
BA=BD
AB and DC are parallel. B

Work out the size of angle DBC.
Give reasons for your answer. [5 marks]

Angle BaD = Angle TDA =34
%use, OV\Q\ES INn an igo.)(du ’(-n'un&\& (VL3 U"WKL
Pm\t’)e, ABD =11°

An&\cs ina hmdle add to 180

Angle RIC = Angle ABD

Alternake angles are Q(tuak

M\S\c ABC= 180 - 43

— 133

O??%i*% cmg\% n 0 (ﬁ(,\io %ua&f‘i\al’tm),
add W0 180’

An\r’lc DRC :=53F° o

An&\cs n o bimnd\e adck o 80

Answer S \ degrees
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10 A, B, and C are points on a circle, centre O.
A/_\C
@]
D ’ €

Work out the size of angle BAC.
Give reasons for your answer. [4 marks]

Qn@\e CRE =40- 24
- 630
A‘\'ahseuk meeks o radius ok 40°

Ah&\e WC = 63
Alternate S(’.Smevxb t\neorem,

Answer é 3 degrees
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11 C and E are points on a circle, centre O.
AB and AD are tangents.

11 (@) Work out the size of angle COE. [2 marks]

F\ns\e, AEO = Av&\Q, ACO =q0°

A ungenk meeks o rdius ok 40°
Angle COE=110° Mgles in a quods \attrek add to

160°
Answer \ l O degrees
11 (b) OC=5cm
Work out the length of CA to 1 decimal place. [2 marks]
Angle CAD = 25"  tanGs)=£
CA
C
A 15° CA= S
Sem —a
{,on(&S\
S CA=2W03.
Answer + \ cm
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12 A and B are points on a circle, centre O.
DC and EC are tangents.

B
) [Rmsw\s not reqw&m\ in this Q‘_\

Work out the size of angle FBC. [4 marks]

Argle AoR= 126" A fugent meeks o radins o 10
and ov\e\cs lh a wua&n‘\d‘tra&. adde to 1(900
Angle ARD = Angle B a0 = 22°
Rage o\v\g\es inan isosceles ’tﬁan@\ﬁ VA %"“‘L
P\ns\c APR = 63°
The un{)\e. aX the wnbre is bwice the
onge ot e greumleence.
M\g\b AFB = VIL° Oiyosi’fb cm&\% m Q
(ﬁ(,\"c %ua&ri\ahml add WO \%Oo
Angle ABF= 43" Angles in o triongle oddd b 120
Pngle FBC= 1S A dunged, meks o radiue ox40°

Answer 25 degrees
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13 A, B, and C are points on a circle, centre O.
EF is a tangent.
Angle FAB =5 x Angle CAF.

A
E
(Rmsms not reqwim\ in Thig (S_\
Work out the size of angle AFC. [4 marks]
Angle
ACR = Q0" The angle tn & semicirele s q0°
Qd0:6=1\S

P\Y\g\b CAF= S

Ange ECB=> Q0 fngle HCB=\7
A‘\’w\geuk meeks o radius ok 40°

Angle APC: 148’ hngles in o bRangle i to 180
Argle CPF = 32° Angles on o stcaight line odd bo \¢0’

BI\Q\Q AFC= 58 Pms\cs in Nernana\t oAd.bD \20

Answer S 8 degrees
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14 A, B, and C are points on a circle, centre O.
DE and FG are tangents.

F
(Rwsw\s not rqw&ud in this (SJ

14 (@) Work out the size of angle ACB. [2 marks]

Angle AoR = 0V A‘hvxseuk meeks oo radius ok 40
and one\f.& lh a c‘/u\adn‘\akuax addL to 1‘900
ﬁng\c ack = SI° AngWt ok the circumference

holf e ongle ak the ceniry,
Answer S \ degrees

14 (b)  Work out the size of angle ABP. [2 marks]
Angle RO = Angle Ba0 =10 0
Rase ow\r,\e.s inan isosceles {v\'w\‘s\?a Ue u‘,\mL
fingle ARP = 90 - 39 P Yangeuk meeks
=Sl & radivs ok 40"

Answer S \ degrees

{n
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15 A, B, C and D are points on a circle, centre O.
ABCD is a trapezium with AB parallel to DC. D
AB =AC

Work out the size of angle DAC. [5 marks]

[P%sms not reqwiml in This 6_\
Qe+ + 3 -2 =180
O??osﬂ'e wm!es n o cac\.\b o\,uadri\akem.l-

add to 120"
b -6 = 180 3N+ 2= 45
6>(.: (86 2(3n- 8 = 85

x= 3l°

fingle RCB> Ange ABC = 2S

Ane\f— cAB=1\0° P\M\QS n okﬂ'ama\& odd bp \80°

Angle DCA= fingle, CAB aHernake angles Gre ol
P\r@\e DhC= FG° Av\a(es ina tﬁav\gk’- add o 180°

Answer q' S degrees
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16 B and D are points on a circle, centre O.
AE and AC are tangents.

5x -7

=\b
7

Work out the value of X

hna\e. 20D = 2(Sx.-%)

16 (a)

D
[RQQSVNS N)J(« f(“\l\."& in this Q] [3 marks]
\Ox -t = 180-x-%

E

Ccﬁiu, angle ok Clrcum ference) Ox -W4= F-x
Angle ROD = 180 - ber 7Y 1>~ 18%
(anles 1n quadeilateroh add to %0) <= |F
Answer \:‘- degrees
16 (b) AD=30cm
Work out the length of OD to 3 significant figures. [3 marks]
B AD= 24" o tan(i2)= QD
o Ad= 1n° 10
W oD = 30+tan(11)
30 mm
Answer 3 ) 18 cm
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